relative signal

(a)

——data

—APSF fit

-0.04 -0.02 0

0.02

relative signal

focal shift (mm)
(C) ——data
—— APSF fit

-0.05 0
focal shift (mm)

0.05 0.1

o o o
£ (2] (o)

relative signal

o
N

——data
—— APSF fit

focal shift (mm)

o o
(2] oo

relative signal
IS
N

——data
—— APSF fit

focal shift (mm)

o o o
£ » (o)

relative signal

o
N

——data
—— APSF fit

-0.02 0

-0.04 0.02 0.04
focal shift (mm)
d ——data
( ) —APSF fit
0.8
©
)
206
[
=
©
° 0.4
0.2
-0.1 -0.05 0 0.05 0.1
focal shift (mm)
10, T ; T :
0.8
©
5
206
]
=
]
® 0.4
0.2

focal shift (mm)

o o
(o] oo

relative signal
I
~

——data
—— APSF fit

-0.2 0
focal shift (mm)



